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1. Coavert 135° to radian measure. 5{[‘_

4
Coavert _SE to degrees. |y ©
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What is the reference angle for 240°? (,0
o
What is the least positive angle that is coterminal with 595°? 2 3 §

What is the value 0fsin225°? _ \Ja
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6. What is the value ofcos(z) 7 =
-

. What is the period of y =2sin2x? [T
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8. Graph y::%c:os(b:)

9. What is the period of y = —% cot% g% ST
>~

10. What is the value ofsec(-60°)? =2

11. Given the point (-1, 6) is a point on the terminal side of an angle, find csc @ ﬁ'f

12. Graph y==3sec%6" (.

13. What is the phase shift of y =-7sin(26 —7)+3 IT/;,
14. What is the value of Tan™'(1) ? L}So ( ]T/q) an ol = B "( g_g’)

15. Wtat is the amplitude of y =—7sin(260 —7) +3 .
16. Find the sclution of the system using ratrices:

x-2y=4 [_g‘]
2x=3y=2 —b

17. Finii tha deterrninant. of:

3 =g 1
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19. Fini tha inverse of:
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20. Find the Area of the region bounded by the given coordinates:

(-1,3:(5,2) (9,4)
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21. Multiply:
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. . . » | s
22. Write an equation of a parabola with a vertex at the origin and a focus at (5,0) X = 20 b

23. Identify the vertex, focus, and cirectrix, and direction of the graph of (x + 3)2 =16(y+4)

24. Graph: x::_?jy2

25. Write an equation of an ellipse with a center (-3, -1), a= 3, and b = 2. Graph the ellipse.

16. Write an equation of a circle with center (12, -9) and radius 4.

27. Find the center of and graph the hyperbola with the equation

Idenify the conic section and find the center. 9x* +25y* —36x+50y —164=0

Finc the vertexof y* +12x -2y —-35=0 (3 |j
)

(3= 0)"% (y+34)*= 1o

=17 (y-5) =
6 =t (1,

25

Ellipse §
Lo o b

Findd the center of the hyperbola with equation 16x* — y* +32x+6y+39=0 (,. |)33

31, What is the graph of 4x* =4y* +16y--15 4(-\—3?,@_,( bo |a—

Find the zenter and radius for the equation (x - 8)2 +3y' =625

Find the ength of the major axis of the equation
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30. Hﬂ)ip“»ngr 32Ax% +0’Oq +39=0
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